PS/WPSSEI‘iES

Precision Planetary Gear Boxes

1A —

We make products devoutly, we hope you recognize our sincere and rigorous approach frem sach
product and we will have confidence sach other, We always seek to satisly our customers.

BAENOSENEYS, SRASS RS, CEERIBRMAORENAN, RLtETEREANE. EWE
BRNAAEMHER.



PS 90

MODEL SIZE
AT itk

40,70
90, 115
142,190
240, 285
330, 400

32

Ratio i iiKEL i
1-stage/1-#k:
3.4.5.6.8.10
2-stage/2—#:
9.12.15.16.18.
20.24.25.30.32.
36.40.48.64.100
3-stage/3-#§:
60.64.72.80.90.
100.120.144.150.
160.180. 200. 240.
256.288.320.384.
512, 600, 800. 1,000

PS series

Precision Planetary Gear Boxes

Rotio/ig i Lt i=3:1~10,000:1
Backlash/[E 72 B Up to < 3 arcmin
Output torque/EE4E Up to16,000N.m
Frame size/#&B%E PS40~PS400
ordering code T & K5/ B SE1Z 5 A
P2 S2 OP2(MOTOR)
Backlash Output type Input type
R R ERN MNmEEAR
Po: #8#5% | S1: shaft i OP 2: Motor mounting
.. | |S2: shaftwith key Egsh TiE
P1: H5E S3: splined shaft &8 L
po. e | Ki: Hollow shaft 7L (SMRIREE) HERRAER
e K2: Hollow with key EE§#FL AR, RRIEBISE
K3: SWpline hollow &7l S B
T: Special require  F P4 HER Rt
OP 3: Case mounting i85 8% 2 fg
OP 4. Foot mounting Ji BEZE L OP 1: shaft mounting
Standard connection if no mark i

WPS 90

MODEL SIZE
RO &
40,70

90, 115

142,190
240, 285
330, 400

| IS ) 0

32

Ratio i MBEEL i:
1-stage/1-#R:
3.4.5.6.8.10
2—stage/2—#k:
9.12.15.16.18.
20.24.25.30.32.
36.40.48.64.100
3-stage/3-#:
60.64.72.80.90.
100.120.144.150.
160. 180, 200. 240.
256.288.320.,384.
512, 600. 800. 1,000

P2

Backlash
Po: BIEZ
Pi: &%
P2 1Z#

TEEREESR BB A g

WPS series

Precision Planetary Gear Boxes

Rotio/ig i b i=3:1~10,000:1
Backlash/[E 72 & Up to < 5 arcmin
Output torque/EE4E Up to16,000N.m
Frame size/#Z15% WPS40~WPS400
ordering code T & R i&/ESRIFiE A
S2 OP2(MOTOR)
Output type Input type
B R RN ENIHREEA R
g; 3232 J:flﬁ e OP 2: Motor mounting
: shaft with key B
S3: splined shaft e =
K1: Hollow shaft 37l (SMERAREZE ) S AR AR
K2: Hollow with key EE5FL M, ARIEBRISE
K3: SWpline hollow 7L S B i
T: Special require  FAPFHRER Rt
OP 3: Case mounting i3 #4488 S AL _
OP 4: Foot mounting Ji FE# AR OP 1: shaft mounting
Standard connection if no mark BhiEE

REERIEESR B R T ah AR

=
»n
=
v
»
7
=)
5




=
%)
=
U
»n
7
=
5

Nominal output Torque Ten ZE7E#A HA4E

Nm

Soxe®

Type Stage
Data tEAEZ 8]

i@~ obeys— =

o abeis- v

|mwobels- w

s obeys— »

3:1
4:1
5:1
6:1
8:1
10:1
9:1
12:
15:
16:
20:
25:
30:
32:
36:
40:
50:
64:
100:1
60:1
64:1
75:1
80:1
90:1
100:1
120:1
125:1
128:1
150:1
160:1
180:1
200:1
1
1
1
1
1
1
1

QY [EFQ [NIFQ) (G (I IFQH [IFQN [NIF QN g IFQH (IS

240:
256:
320:
384:
512:

N e N [ N Y

10
20
18

10
20
18
20
18
20

20

18

20
20
18
20
18
20
20
18
20

20

18

20
18

20
20
20
18
20
18
18
18
20
18
18
20
18

20
44
40
25
18
10
20
44
40
44
44
40
25
44
25
40
10
18
10
44
44
40
44
40
44
40
40
44
40
44
40
40
40
44
40
25
18
25
18
10
44
44
44
40
44
40
40
40
44
40
40
44
40
25
18

50
120
110

75

50

20

50
120
110
120
120
110

75
120

75
110

20

50

20
120
120
110
120

75
120
120
110
120
110
120
110
110
110
120
110

75

50

75

50

20
120
120
120
110
120
110
110
110
120
110
110
120
110

75

50

125
260
230
130
120
70
125
260
230
260
260
230
130
260
130
230
70
120
70
260
260
230
260
230
260
260
230
260
230
260
230
230
230
260
230
130
120
130
120
70
260
260
260
230
260
230
230
230
260
230
230
260
230
130
120

400
800
700
500
450
305
400
800
700
800
800
700
500
800
500
700
305
450
305
800
800
700
800
700
800
800
700
800
700
800
700
700
700
800
700
500
450
500
450
305
800
800
800
700
800
700
700
700
800
700
700
800
700
500
450

1,000
1,780
1,600
1,000
850
630
1,000
1,780
1,600
1,780
1,780
1,600
1,600
1,780
1,000
1,600
1,600
850
630
1,780
1,780
1,600
1,780
1,600
1,780
1,780
1,600
1,780
1,600
1,780
1,600
1,600
1,600
1,780
1,600
1,000
850
1,000
850
630
1,780
1,780
1,780
1,600
1,780
1,600
1,600
1,600
1,780
1,600
1,600
1,780
1,600
1,000
850

1,830
3,700
3,100
2,100
1,700
920
1,830
3,700
3,100
3,700
3,700
3,100
3,100
3,700
2,100
3,100
3,100
1,700
920
3,700
3,700
3,100
3,700
3,100
3,700
3,700
3,100
3,700
3,100
3,700
3,100
3,100
3,100
3,700
3,100
2,100
1,700
1,830
1,700
920
3,700
3,700
3,700
3,100
3,700
3,100
3,100
3,100
3,700
3,100
3,100
3,700
3,100
2,100
1,700

6,400
5,500
4,500
3,200

6,400
6,400
5,500
5,500
6,400
4,500
5,500

3,200

6,400

6,400

6,400
6,400
5,500
6,400
5,500
6,400
6,400
5,500
5,500
6,400
5,500
4,500
3,200

6,400
6,400
6,400
5,500
6,400
5,500
5,500
5,500
6,400
5,500
5,500
6,400
5,500
4,500
3,200

10,000
8,800
7,500
5,000

10,000
10,000
8,800
8,800
10,000
7,500
8,800

5,000

10,000

10,000

10,000
10,000
8,800
10,000
8,800
10,000
10,000
8,800
8,800
10,000
8,800
7,500
5,000

10,000
10,000
10,000
8,800
10,000
8,800
8,800
8,800
10,000
8,800
8,800
10,000
8,800
7,500
5,000

y

e PS sn PSon PSan PSa,ar PS PSan PSoan PSaoc PSann PS
B BB ps 40 yps70 1590 1p1155142 15190 2240285 330,400

17,000
16,000
13,000
7,500

17,000
17,000
16,000
16,000
17,000
13,000
16,000

7,500

17,000

17,000

17,000
17,000
16,000
17,000
16,000
17,000
16,000
17,000
16,000
17,000
16,000
13,000
7,500

17,000
17,000
17,000
16,000
17,000
16,000
16,000
17,000
17,000
16,000
16,000
17,000
16,000
13,000
7,500




0)@5

Type Stage/E!5E FREl
PS PS PS PS PS PS PS PS PS PS
Data fERE 28 WPS 40 WPS7 0 WPS9 0 WPS1 15 WPS142 WPS‘I 90 WPSZ40 WPS285 WPS330 WPS400
Ma% RS N.m 1.5times T2N  1.5{&4F 5
Eﬁ;[f‘%ggftyﬁg’ N.m 2 times T2N 2fE LR

Frmax.for 10.000h N

=
»n
=
=
»
%
)
5

2xiEmAH0) 160 340 650 1,500 4,200 13,300 15,500 18,600 26,500 55,000
P oo N 160 450 900 2,100 6,000 21,000 23,000 25500 34,500 65,000
VeI R 0.7 1.8 48 11 35 70 125 215 350 550

Max.input speed
N T rpm 10,000 8,000 6,000 6,000 4,500 4,000 3,500 3,000 2,500 2,500
A"egg%eig‘ﬁ’\‘!‘ speed o 4,500 4,000 3,500 3,500 3,000 2,500 2,000 2,000 1,500 1,500
I,
Noise PS dB(A) <56 <58 <60 <65 <70 <70 <70 <72 <75 <80
= WPS <60 <61 <63 <68 <75 <78 <80 <81 <82 <85
Ao | h 20,000 10,000
Effe|er;cy withfullload 15 =>96% 288 =>94% 3§ =90%
£ 1K <3 <3 <3 <3 <3 <3
Po g 28 <5 <5 <5 <5 <5 <5
s 3K <7 <7 <7 <7 <7 <7
s 1B <12 <5 <5 <5 <5 <5 <5 <8 <8 <8
3 P 5 2& <16 <7 <7 <7 <7 <7 <7 <10 <10 <10
@ < 3 <18 <9 <9 <9 <9 <9 <9 <15 <15 <15
7 s 1K <15 <7 <7 <7 <7 <7 <7 <10 <10 <10
B Ps 5 2B <18 <9 <9 <9 <9 <9 <9 <12 <12 <12
=] < 3 <20 <11 <11 <11 <11 <11 <11 <18 <18 <18
< c 1K <5 <5 <5 <5 <5 <5
38 Po 5 2 <7 <7 <7 <7 <7 <7
S s | 3K <9 <9 <9 <9 <9 <9
& s s 1B <14 <7 <7 <7 <7 <7 <7 <12 <12 <12
3 P 5 2B <18 <9 <9 <9 <9 <9 <9 <15 <15 <15
s 3K <20 <11 <11 <11 <11 <11 <11 <18 <18 <18
k= 15 <18 <10 <10 <10 <10 <10 <10 <14 <14 <14
P2 5 2 <20 <12 <12 <12 <12 <12 <12 <18 <18 <18
s 3K <22 <14 <14 <14 <14 <14 <14 <20 <20 <20
3:1 0.031 0.135 0.77 2.63 12.14 28.98
4:1 0.022 0.093 0.52 1.79 7.78 23.67 32.85 40.2 75.1 251.6
1% 5:1 0.019 0.078 0.45 1.53 6.07 23.29 28.71 39.9 73.4 243.0
6:1 0.018 0.075 0.42 1.40 5.24 22.75 27.03 36.6 70.9 232.4
8:1 0.017 0.065 0.39 1.30 4.63 20.51 25.69 34.5 62.5 205.8
10:1 0.016 0.063 0.39 1.28 4.60 20.51
s 15:1 0.015 0.039 0.72 2.40 7.47 16.50
% 20:1 0.007 0.049 0.35 1.60 6.95 9.35 14.35 18.80 24.00 55.30
P o8 25:1 0.007 0.039 0.25 1.40 6.65 9.00 12.44 18.30 23.20 52.10
% o 32:1 0.007 0.038 0.18 1.40 5.81 8.75 12.44 16.75 23.20 52.10
'g é 40:1 0.005 0.027 0.18 1.30 5.81 8.75 11.35 16.60 23.20 50.09
E =< 64:1 0.005 0.027 0.16 1.30 5.28 8.10 11.35 16.60 23.20 50.09
g 100:1 0.005 0.025 0.16 1.30 5.28 8.10
g 60:1 0.015 0.039 0.28 1.57 6.85 6.92
S
= 80:1 0.007 0.039 0.25 1.38 6.10 6.92 14.27 17.73 24.73 40.75
100:1 0.007 0.016 0.25 IE35) 5.70 6.55 10.31 14.85 19.75 38.60
160:1 0.013 0.016 0.18 1.35 5155) 6.55 9.42 14.50 19.70 36.50
3 200:1 0.005 0.016 0.18 1.30 5.32 6.55 8.20 13.75 18.50 32.85
256:1 0.005 0.016 0.16 1.30 5.21 6.30 8.20 13.75 18.50 32.85
320:1 0.005 0.016 0.16 1.25 5,18 6.30 8.10 13.25 18.50 30.71
512:1 0.005 0.016 0.16 1.20 5,18 6.30 7.95 10.80 15.45 28.85
1,000:1 0.005 0.016 0.16 1.20 5.10 6.10
18 0.37 0.93 2.35 6.15 19.00 31.00 70 113 145 250

= PS 2% 0.45 1.15 2.70 8.00 24.00 42.00 88 136 190 340

ﬁ|/||] 3 0.55 1.35 3.20 10.00 29.00 50.00 96 140 215 360

L o 4B 99 148 219 375

_'Eu 18 1.0 4.0 7.5 138.5 26.5 50 95 143 185 300
g 2% 1.3 4.7 8.7 16 29.6 61 103 166 230 390
HHRE 3% 1.7 585 9.5 18.6 32.6 70 121 170 255 410
h=ty 124 178 259 425
(1)Means:Allowing radial force and axial force that function in output central place when output speed is 100 rpm. (1)F7R:ZE80 H 835 100rpm B, 15 A T8 H o O LB 2 BRHEE A A8 E 71,
(2)The weight of reducer in this book is approximation,the practical is depend on the finished product. QEEKESEFERERMBEMEEUTMEMEL, ERESUETVRE,
(3)The moment of inertia relates to the ratio. frame. input shaft and to standard motor shaft . etc. (AW EREEELL . RUIEH N IEE. MABTLEHRGEN, EREEH
EREEL,

| GEETEEFEEEEE ) o




=
»n
=
=
»n
7
=
5

Lo input SHRIRMA input SEHERIEHA
PS40-19018 % ERER
Lol L7 5 D21 D21 B2
o %J;F ®
- M| L1, [LL2 R . 3
Bl | 1 17N
e o] — B @i
T ’
L £
L51[1_ L5 A2
L EEC D11
Other shaft Fi P A8 ah i ) ER
E — S shaft Jt#f S2 shaft with key 2§ S3 splined shaft &g St | special shaft 558
]
5 According to customers
g™ ﬁ [}Lﬁ ea ﬂ Iil RRERHE
3 ki hollow A Fssmmsz k2 hollow with key ESMF. ks  splined hollow Z£#MI. ki special hollow $§% 7L
- i Acoordi
E. = ﬁ 8:@ 8% ’ ccording to customers
£ ] RAPEXRHIE
°
Typg‘?!;‘éaé‘;i PS40 PS70 PS90 PS115 PS142 PS190
Size/R~F 1 2 3 1 2 3 1 2 3 1 2 3 1 2 3 1 2 3 4
A1 O 45 70 90 115 142 190
B1 3 5 6 8 12 14
C1 M4X10 M5X12 M6X15 M10X22 M12X25 M20X42
H1 11.2 16 22.5 28 43 53.5
E D1 (0] 50 70 100 130 165 215
€ D2 4x ®3.5 ®5.5 ®6.5 ®8.5 D11 ®13.5
g D3 ® h6 10 14 20 25 40 50
2 pg o 12 17 25 40 60 72
% D5 o h7 26 50 70 95 130 160
E_ D6 ] 40 64 87 115 140 190
8 L1 15 25 25 40 65 70
s L2 B3R5 4 4 5 5 5!
8 L3 23 30 36 50 80 80
L4 26 35 40 55) 87 90/104
L5 2 3 3 4 5 6/20
L6 6 8 10 14 20 20
(7€) 32 455 59 36.3 505 645 49 665 84 655 88 1105 945 133 171 137 176.5 216 308.5
Lo® 96 109.5 123 130.1 134.3 148.3 147.8 165.3 182.8 204 226.5 249 293 331.5 369.5 352 391.5
A2 motorfR#EFEHL  motortRIFEEHL motortR#EFaHl motoriR#& Fa 4l motoriR#EFHl motoriR#EFaHl
= B2 motoriR#EFEHL  motorfRIEEEHL motoriR#EFaHl motoriR & a4l motoriR#EFaHl motoriR#EFHl
E H2 5 g MotorfREEMHL  motoriRiEFEHL motoriR & HL motoriR #EFE L motoriR#EFLHL motortR #EF#l
?}5 D11 E E motoriR#EFEHL  motorfRIEEHL motoriR &L HL motoriR #EFEHL motoriR &L HL motoriR B HL
& D21 *2, é motoriR B HL motoriR & FE 4L motoriR & FE 41 motortRHEERHL motoriR & FE L motoriR & FE 4L
3; D31 ','§ &’ motoriR#EFEAL  motoriRIEEEHL motortR#EFHl motoriR & Fa 4l motortR#E L Hl motortR#E L Hl
g D51 < E motortR#& B motortR#&FLHl motortR#&FaHl motoriR & Fa 4l motortR#&FHl motortR#&FHl
:g L41 motoriR#EFEAL  motoriRHEEEHL motortR#&Fa Al motoriR#& Fa 4l motoriR#&F Al motoriR#&FHl
= L51 motorfR#EFHL  motortRIFEEHL motoriR#EFaHl motoriR & a4l motoriR#EFHl motoriR#EFaHl
L6t motoriR#EEEHL.  motoriRIBEEH motoriR & HL motoriR #EFE L motoriR#EFHL motortR #EFa L

(1)dimensions refer to the mounted motor-type ,the size can be changed
(2)dimensions refer to the frame of the boxes,the size can be changed

& 05

(NELSHBAMGERNEFEM BLRTATIAHEL

ELE S M HRER N A A E R, BRI EL




03@5
ouput/#ith ingg;ﬁﬁ%ﬁ;)\ input 3%%};‘“)‘ O
L9 m
e, L7 L4 D21 B2 ~
~ | L3 — e
——_—. g.._’; W AL E
iy e I | o 0
T | e o (/p)
it | JI* L5 n
L41 L6 || g.
®
(7]
Other shaft i P TE {2 A 1 1ER
ii - shaft &k shaft with key 5 i S3  splined shaft {&§&#h St  special shaft $5%k#h
5 - According to customers
g ﬁ 8:}§ ¢ % g Ii'l ARERBIE
E ki hollow (A Flsemzz k2 hollow with key Ef#RFL ks  splined hollow ###MFL  kt  special hollow 4% 7L
E® ﬁ L Accordin
5 8: g i % ‘ g to customers
£ i APRERHE
o
TV"Q;&"&‘;& PS240 PS285 PS330 PS400
Size/R~F 1 2 3 4 1 2 3 4 1 2 3 4 1 2 3 4
Al O 240 285 330 400
B1 18 20 22 25
C1 M20X42 M24X50 M24X50 M24X50
+ H1 69 74.5 85 95
;}lé D1 [0} 265 315 370 425
;EI D2 4x 18 18 22 22
% D3 o h6 65 70 80 9
W Ds o 75 85 90 100
E D5 o h7 225 250 290 350
3 90 100 110 125
g L2 5 5! 5 5
8 13 100 110 120 135
e L4 125 135 150 165
L5 20 20 25 25
L6 25 25 25 35
7® 162.5 217 315 | 355 192 254 3475 402 206 2725 3755 4375 265 338 4475 5125
Lo® 348 415 473 525 400 486 570 630 459 545 639 695 538 640 745 805
A2 motoriR #E FE AL motortR i F AL motortR #& FE#l motoriR #EFEHL
= B2 motoriR #EFa#l motoriR #& L motoriR #EFEHL motoriR & FEHL
E H2 5 & motoriR#EFHl motoriR#EFaHl motoriR#EFaHl motoriR & FaHl
?‘2%’ D11 'g E motortR 1 F4L motoriR #& Fa 4L motoriR #& FE 4L motoriR 1 FL#L
& D21 i 5 motortR#E FE motortR 4 Fa 4l motortR 4 Fa 4l motoriR & Fa 4L
= D3 5@ motorR &ML motor#R &ML motor#R & H L motor#R &L
2 st 8 E motoriR#E motoriR4E L motoriR4E L motoriRiZ M
S Lat motoriRiZFIL motoriR B motoriR i motoriR B
= L51 motoriR#EFaHl motoriR#EFaHl motoriR#EFaHl motoriR#& Fa L
L61 motoriR#EFL Al motortR#EFaHl motortR#&FaHl motoriR#&Fa L

(1)dimensions refer to the mounted motor—type ,the size can be changed
(2)dimensions refer to the frame of the boxes,the size can be changed

)

ELELYHANRBRNEGHRN SLRTAUEEL

(Q)ELSHEBERNEAEE R ELERTAIFEL

@ 06




=
»n
=
U
/p)
7
£
5

Soye®
output / Bith

D2

Other shaft [ P A[E{Z A6 HER
S1 shaft i

k1 hollow XA I srErEE)

output hollow output shaft

Type stage

- =8 [

k2 hollow with key E#HI. ks

‘¢ =P =0

L41 L4
L31 L3
L11 | |L61 L7 L1
c2 ||l ] ol
1]
) o e — T
1
L L51 L5
] <8
L9

S2  shaft with key i S3

splined shaft & &

splined hollow 7&K 7L

St  special shaft ¥ 78

According to customers

APERHE
ki special hollow 4¥%k %L

According to customers

AFERFE

PS190

3 1 2 3 4

190
14
M20X42
53.5
215
©13.5
50
70
160
190
70
5
80
90/104
6/20
20
171 137 176.5 216 308.5

weE BB PS40 PS70 PS90 PS115 PS142
Size/R~F 1 2 3 2 3 1 2 3 2 3 1 2
A1 O 45 70 90 115 142
B1 3 5 6 8 12
c1 M4X10 M5X12 M6X15 M10X22 M12X25
H1 11.2 16 22.5 28 43
E D1 o 50 70 100 130 165
¥ D2 4x ©3.5 5.5 ©6.5 8.5 o11
H D3 ®he 10 14 20 25 40
% D4 ® 12 17 25 40 60
® D5 o h7 26 50 70 95 130
¥ D6 O 40 64 87 115 140
%_ L1 15 25 25 40 65
5| L2 3.5 4 4 5 5
N 23 30 36 50 80
S L 26 35 40 55 87
ST 2 3 3 4 5
L6 6 8 10 14 20
L7@ 32 455 59 363 505 645 49 665 84 655 88 1105 945 133
Lo® 96 109.5 123 130.1 134.3 148.3 147.8 165.3 182.8 204 226.5 249 293 331.5 369.5 352 391.5
A2 45 70 90 115 142
B2 2 3 5 6 10
c2 M4X10 M4X10 M5X12 M6X16 M12X25
31_ H2 8.8 11.2 18 225 38
r Dii o 50 70 100 130 165
E D21 4x M4X8 M5X12 M6X15 M8X18 M10X22
gﬁ D31 8 10 16 20 35
=~ D4 12 17 25 35 55
32  Dsi 26 50 70 95 130
S L 10 15 20 30 45
2 Lot 35 3 3 5 7
= a1 17 21 26 40 58
L41 20 25 30 45 65
L51 2 3 3 4 5
L61 15 23.8 28.8 38.5 46.5

(1)dimensions refer to the mounted motor-type ,the size can be changed
(2)dimensions refer to the frame of the boxes,the size can be changed

& 07

190 142
12 10
M12X25 M12X25
43 38
215 165
M12X25 M10X22
40 35
55 55
160 130
50 45
6.5 7
63 58
70 65
5
57 46.5

(NELLHHAMREERNEFHRN SLRTAUEEL
(2)iELS Y EBIER N A AEE R ELERTAFEL




o)@%

output / Eith

L9
L4
L31
L1 L7 L4
c2 21| —
| 2
==l I
gElE | || EEs
== ci
1 [LLe1 |15
L5171, " e T
Other shaft F P EE b LR
E S1 shaft F#h S2 shaft with key B S3 splined shaft &
® B
5
iw # [}L@ # ‘ =3
=
o
E ki hollow %K Fssemzz k2 hollow with key BRI ks  splined hollow £ R 7L
©° =
o
= =3 - ="
o M
8 @
=
o
Type stage
Eh %ﬁu PS240 PS285 PS330
Size/R T 1 2 3 4 1 2 3 4 1 2 3 4
A1 O 240 285 330
B1 18 20 22
c1 M20X40 M24X50 M24X50
P 69 74.5 85
1 D1 ) 265 315 370
?é'f\[ D2 4x 18 18 022
& D3 ®h6 65 70 80
= D4 o 75 85 90
*{ﬁ D5 o h7 225 250 290
':.; L1 90 100 110
% L2 5 5 5
© L3 100 110 120
& L4 125 135 150
© s 20 20 25
L6 25 25 25
L7 @ 1625 217 315 355 192 254 38475 402 206 272.5 3755
L9 4555 510 567 607 528 590 640.5 695 581 647.5 726.5
A2 240 190 285 240 330 285  (240)
B2 14 12 18 14 20 18 14
?i" c2 M12X26 M12X26 M12X26 M12X26 M16X35 M12X26
p  H2 53.5 43 64 53.5 745 64 (53.5)
3# D11 ) 265 215 315 265 370 315  (265)
W p21 4x M16X35 M12X25 M16X35 M16X35 M16X35 M16X35
% D31 oh6 50 40 60 50 70 60  (50)
o D4t ) 60 55 75 60 85 75  (60)
> D51 o©h7 225 160 250 225 290 250  (225)
AL 60 50 70 60 80 70 (60)
£ | L21 6.5 6.5 5 6.5 5 5  (6.5)
S | L3t 73 63 80 73 90 80 (73)
2 L4 83 70 90 83 100 90  (83)
L51 8 5 8 8 8 8
L61 85 57 111 85 125 111 | (85)

(1)dimensions refer to the mounted motor—type ,the size can be changed
(2)dimensions refer to the frame of the boxes,the size can be changed

| e o

seues SdM/Sd

St

special shaft 4§k

According to customers

APEREIE

ket  special hollow $§%FL

According to customers

APERHIE

PS400

1 2 3

400
25
M24X50
95
425
®22
90
100
350
125

135
165
25
35
265 338 4475
677.5 | 750.5 | 837.5

400 330 (285)
22 20 18
M16X35 M16X35
85 745 (64)
425 370 (315)
M16X35 M16X35
80 70 (60)
100 85  (75)
350 290 (250)
90 80  (70)
7.5 5  (5)
105 90  (80)
117 100 (90)
10 8
130.5 125 (111)

(NiELLHHAMRERNEFEARN ELRTAUEEL
(QELS B IR N A A BT, BLRTATIAAEK




2 PSCIk1  hollow A FLPERIEEE)
L3
S g [
n <N i
o a
/2]
m H
=l
(1]
« Type stage
RISk B8y PS190K1 PS240K1 PS285K1 PS330K1 PS400K1
Size R+t

D3 OH7 50 55) 65 70 80

D4 [0} 70 75 85 90 100

L1 mm 60 80 90 90 100

L3 mm 70 100 100 100 120

Other size is as same as PS series HERTHEPSRIZERTEEL—H
PS[ k2 hollow with key &R 7L
L3
] L
el

Type stage
si R‘j‘yp ks %E PS70K2 PS90K2 PS115K2 PS142K2 PS190K2 PS240K2 PS285K2 PS330K2 PS400K2
i1ze 3]
B1 mm 3 5 6 10 14 14 18 20 22
H1 mm 11.4 17 22.8 38.3 53.8 58.8 69.3 74.8 85.3
D3 OH7 10 15 20 35 50 55 65 70 80
D4 O] 19 30 40 55 70 75 85 90 100
L1 mm 2 2 2 3 3 5 5 5 5
L3 mm 20 30 38 60 80 80 80 100 130

Other size is as same as PS series HERTHEPSREJIELRTTEE—F

PS[k3 splined hollow &M 7L

L3
L1 D3= INTaz X bm X 30r7H
8 ‘ ®
— - | <
[ Q -
o~
12 i
Type stage
) 3k BE PS190Ks PS240Ks PS285Ks PS330Ks PS400Ks
Size R+t
D3 INT20zX2mX30rX7H = INT25zX2mX30rX7H = INT20zX3mX30rX7H = INT25zX3mX30rX7H = INT20zX4mX30rX7H
D4 0] 70 75 85 90 100
L1 mm 3 5 5 5 5
L3 mm 60 60 65 70 80

Other size is as same as PS series HERTHRPSREFIELRTEE—F

& 09




seues SdM/Sd

Typégéaé‘;k PS40 PS70 PS90 PS115 PS142 PS190

SizeRF 1 =2 1 =2 1 =2 1 =2 1 =2 1 =2

D30 ) M4 M6 M8 v8 M8 M10

H30 mm 225 35 45 575 71 95

L30 mm 36 52 60 78 108 132

L31 mm 25 36 35 515 40 63.5 56 90 79 120 80 128

L32 mm 4 6 8 8 10 10

L33 mm 6 10 15 16 16 20

Other size is as same as PS series HERTHEPSRFIIEERTEEL—H

PS-0OP4 foot mounting size JKMIRZEER T

L43
o &
1y} © (=]
, < P | =y . <
- |
(=]
<
g |
p— o D
Ta 1 L41 L42
L46
Typestage o, PS70 PS90 PS115 = PS142 = PS190 = PS240 = PS285 = PS330 = PS400
RISE B8
SizeR 1 =2 1 =2 1 =2 1 =2 1 =2 1 =2 1 =2 1 =2 1 =2 1 =2
D40 o 45 6.6 9 9 9 11 13 13 18 18
D41 ) 75 11 15 15 15 18 20 20 26 26
H4 mm 285 47 60 725 86 113 150 170 200 240
L40 mm 58 84 110 135 165 216 265 310 360 430
L41 mm | 22 41 465 70 49 77.5 57.5 915 82 123 97.5 145 130 180 150 200 180 230 200 260
L42 mm 6 8 10 10 10 12 30 35 40 40
L43 mm 35 6.8 105 10.5 105 11 13 13 175 175
L44 mm 6 12 15 15 15 18 30 275 35 40
L45 mm 75 100 130 156 185 240 300 350 420 480
L46 mm | 32 47 625 8 69 97.5 77.5 111.5 102 143 121.5 169 180 240 220 270 250 310 280 360

Other size is as same as PS series HERTHEPSRIIIELERTEL—E
Note: If no, then according to customers  iE: FEPEFOLEEARARERE, ATEERM., KARREBRBMEREHRNZEEAXNRAERTER,

& 10




=
n
-
=
/)
%
=)
5

00)@5
output it . D51 input BN
o3 ﬂ{
S i L4
5 ¥ L6 [
L3 c1
| L2
I P
! L8 L7 |15
A1 L9
D1
Other shaft i P AT&{Z A 1 ER
shaft Jtih S2 shaft with key B ##h S3 splined shaft & St  special shaft $§%k#h

According to customers
g [}L@ e U@ g III APERSIE

ki hollow AL srarEz k2  hollow with key B$#M7. ks splined hollow £8&#M¥. ki  special hollow 455 %L

N

According to customers

RARERSME

output hollow output shaft

e

TVpeﬁs‘;gg;u WPS40 WPS70 WPS30 WPS115 WPS142 WPS190 WPS240 WPS285 WPS330 WPS400
Size/R~ 1231231231231 231234123412341 23412334
Al [} 45 70 90 115 142 190 240 285 330 400
B1 3 5 6 8 12 14 18 20 22 25
C1 M4X10 M5X12 M6X15  M10X22 M12X25 M20X42 M24X50 M24X50 M24X50 M24X50
H1 1.2 16 22.5 28 43 53.5 69 74.5 85 95
* D1 0] 50 70 100 130 165 215 265 315 370 425
?if%‘ D2 4x 3.5 5.5 6.5 8.5 D11 ®13.5 18 18 22 22
ggg‘ D3 ®h6 10 14 20 25 40 50 65 70 80 90
= D4 0] 12 19 30 40 55} 70 75 85 90 100
E D5 ® h7 26 50 70 95 130 160 225 250 290 350
%. D6 | 40 64 87 115 140 190
% L1 15 25 25 40 65 70 90 100 110 125
S L2 3.5 4 4 5 5 5 5 5 5 5
g L3 23 30 36 50 80 80 100 110 120 135
L4 26 35) 40 55) 87 88/102 125 135 150 165
L5 2 3 3 4 5 6/20 20 20 25 25
L6 6 8 10 14 20 20 25 25 25 35
L8 49 75 103.6 125.5 151.2 205 205+ 205+ 205+ 205+
L7@ 32 455 59 36.3 50.5 64.5 49 665 84 65.5 88 110.5945 133 171 137 176.5 216 308.5162.5 217 315 355 192 254 347.5402 206 272.5375.5437.5 265 338 447.5512.5
Lo® 110 123.5 137 146.3160.5174.5192.6 210.1 227.6 246 268.5 291 332.7371.2409.2 490 469.5 509 601.5
A2 motor#R &l motori iR A motorifHEEAL motorR BRI AL motoriRiERH. motoriR{EHAL  motoriRERH  motoriRiEEA | motoriRiERHL  motorRiEHEAL
ﬁ_‘ B2 motoriR &R motoriR B H motorfR IR motoriRHEE M motoriREEBH motorfRIFEA  motoriRFEEAML  motoriRIEEH  motorfRIEEH | motoriRiEEA
E{{ H2 5= motoriR &4 motoriR iR H motorfR iR motoriREEEM motoriRIZEA  motoriRIFA  motoriR#EREAML  motoriRiEEH  motorfREEH | motoriRiERM
:5 D11 2 E motoriR & B4 motoriR R H motortR IEEE A motoriRHEE M motoriRIZEAM  motorfRIFRA  motoriRFEREAML  motoriRiEEH  motorfRIEEH | motoriRiEEM
ﬁ D21 *3, 5 motortR & Fe 41l motortR f&Fe HlmotoriR &4l motoriR Al motorRiEREAL motoriRHERAHL  motorfRiEREAL  motoriRiERAL | motorfiERAL | motorRiEREA]
E:_:i D31 ','§ g motor#R Bl motoriR #E B Hl motoriR & E AL motoriRiE R HL motoriREZEEHL motoriRiERAL  motoriR#EEHL | motoriR#EEAL | motoriRiERAL  motoriRiERAL
E D51 LB motorRiBi motorkEE Al motoriR BB motorE R AL motorAZEEAL motoriRiBEAL | motoriRAEBAL  motorB4EEIHL | motoriIBEAL | motoriRiREAL
% L41 motoriRE R4 motorfR iR HmotorfR IR motoriRHEE M motoriREEAM  motorfRIFEA  motoriR#EREAML  motoriRIEEH  motorfRIEEH | motoriRiFEM
= L51 motortf f&EHl motoriR fEEE 4l motortRIBEEH motoriR BRI motoriR M, motoriRiEEM  motoriRBEAL  motoriR{EEAL  motorfRIEEM | motoriR iR
L61 motor#R & E 1l motoriR R B Hl motoriR B Al motoriRAEF Al motoriRHEEEH motoriRiEHAL  motoriR#EEH | motoriR#EEM | motoriRiEEAL  motoriRiEFEAL
(1)dimensions refer to the mounted motor-type ,the size can be changed (B2 H AR EHNREGH ELRTRAINGEL
(2)dimensions refer to the frame of the boxes,the size can be changed (QELLHAMEHNBERBE ELRTRAINEEN

& 11




Soves®
output #iH gi: input B\
- D31
D1 3\ o .
¥
5 5] 7] L6 -
] ‘ e S —
° 5‘ - B P 2LiNoopmmary
* S ‘ 7z Nml)
A &= — | sk O =
Ve ; [l S [ ]
o’\ ) 7 ||Ls aT ~
L9 =
Other shaft i P [ i& 1% A E R
E S1 shaft &k S2 shaft with key B CH splined shaft & St  special shaft $§%kéh
]
"é_ g 8:% g g According to customers
‘g‘ - ¥ APERE
E ki hollow XA Fsremsz) k2 hollow with key E#KI. ks  splined hollow &M ki special hollow $§% 7L
s =F
B | According to customers
e P L f
o
TVPeﬂ-‘"g‘;S{é g PS40 WPS70 WPSS0 WPS115 WPS142 WPS190 WPS240  WPS285  WPS330  WPS400
Size/RF 112/3(1(2|3|/1(2[3|1|/2(3/1|{2|3|1(2|3|4|/1|/2|3[{4(1/2|3[4(1|2|3[4/1|/2(3|4
A1 O 45 70 90 115 142 190 240 285 330 400
B1 3 5 6 8 12 14 18 20 22 25
C1 M4X10 M5X12 M6X15 M10X22 M12X25 M20X42 M24X50 M24X50 M24X50 M24X50
HA1 11.2 16 225 28 43 53!5] 69 745 85 95
= D1 [0} 50 70 100 130 165 215 265 3ill5) 370 425
gé D2 4X ®35 5.5 6.5 8.5 o111 ®13.5 ®18 18 22 ®22
eS| D3 oh6 10 14 20 25 40 50 65 70 80 90
& D4 (0] 12 19 30 40 55 70 75 85 90 100
E; D5 ®h7 26 50 70 95 130 160 225 250 290 350
g D6 O 40 64 87 115 140 190
> L1 15 25 25 40 65 70 90 100 110 125
3 L2 35 4 4 5 5 5 5 5 5 5
8 L3 23 30 36 50 80 80 100 110 120 135
5 L4 26 35 40 55 87 90/104 125 135 150 165
8 L5 3 3 4 5 6/20 20 20 25 25
L6 6 8 10 14 20 20 25 25 25 35
L8 49 75 103.6 125.5 151.2 205 205+ 205+ 205+ 205+
L7@ 32 455 59 363 505 645 49 665 84 655 88 1105945 133 171 137 1765 216 308.5 162.5 217 315 355 192 254 347.5402 206 272.5375.54375 265 338 447.55125
Lo®m 110 1235 137 146.3160.5174.5192.6210.1227.6 246 268.5 291 332.7371.2409.2 490 469.5 509 601.5
A2 45 70 90 115 142 190 142 240 190 285 240 330 285(240) 400 330 (285)
B2 2 & 5) 6 10 12 10 14 12 18 14 20 18 14 22 20 18
_ H2 8.8 11.2 18 22,5 38 43 38 53.5 43 64 53.5 74.5 64(535 85 74.5(64)
:':. D11 [0) 50 70 100 130 165 215 165 265 215 315 265 370 315(265) 425 370 (315)
—:EFE D21 4X M4X8 M5X12 M6X15 M8X18 M10X22 M12X25M10X22 M16X35 M12X25 M16X35 M16X35M16X35 M16X35 M16X35 M16X35
:‘2 D31 8 10 16 20 35 40 35 50 40 60 50 70 60 (50) 80 70 (60)
& D41 12 17 25 35 55 55 55 60 55 75 60 85 75 (60) 100 85 (75)
= D51 26 50 70 95 130 160 130 225 160 250 225 290 250(225) 350 290 (250)
g_ L11 10 15 20 30 45 50 45 60 50 70 60 80 70 (60) 90 80 (70)
Tl L 35 3 3 5 7 65 7 65 65 5 65 5 565 75 5 (5
‘g L31 17 21 26 40 58 63 58 73 63 80 73 90 80 (73) 105 90 (80)
= L41 20 25 30 45 65 70 65 83 70 90 83 100 90 (83) 117 100 (90)
L51 2 & 5} 4 5 5 8 5) 8 8 8 8 10 8
L61 15 23.8 28.8 38.5 46.5 57 46.5 85 57 111 85 125 111 (85) 130.5 125 (111)
L71 43 76 103.6 125.5 151.2 213 213+ 213+ 213+ 213+
(1)dimensions refer to the mounted motor-type ,the size can be changed ()iEL2H AR EENEETHE ELR TG EK
(2)dimensions refer to the frame of the boxes, the size can be changed (2)EL S HRER N EEBF, ELRTRILAFEL

& 12

=
»n
=
=
»
7
)
5




=
»n
=
v
/p)
7
e
5

Type stage
BISE BB WPS190Ki1
Size R+t
D3 OH7 50
D4 (0] 70
L1 mm 60
L3 mm 70

Other size is as same as WPS series

Type stage
RSk B® WPS70K2  WPS90K2
Size Rt
B1 mm 3
H1 mm 11.4
D3 OH7 10
D4 (0] 19
L1 mm 2
L3 mm 20

Other size is as same as WPS series

WPS240K1

55
75
80
100

HERTEWPSRIEERTEE—H

WPS[ k2

5
17
15
30

2
30

b
|

WPS285K1 WPS330Ki1 WPS400K1
65 70 80
85 90 100
90 90 100
100 100 120
hollow with key B K 3l
L1
23

WPS115K2 WPS142K2 WPS190K2 WPS240K2

6 10 14 14
22.8 38.3 53.5 58.5
20 35 50 55
40 55 70 75
2 3 3 5
38 60 80 80

HERTHAWPSRIIEERTRE—H

WPS[ 1k3

P
o 4 WPS190K3
D3 INT20zX2mX30rX7H
D4 0] 70
L1 mm 3
L3 mm 60

Other size is as same as WPS series

& 13

ht
£l
a

WPS240K3

INT252X2mX30rX7H
75
5
60

WPS285K2  WPS330K2 WPS400K2

18
69
65
85
5
80

splined hollow fE§2 M 7L

20 22
74.5 85
70 80
90 100
5 5
100 130

D3=INTaz X bm X 30r7H

L3
| \ L
! < -
== 3
|
Il
WPS285Ks WPS330Ks WPS400Ks
INT20zX3mX30rX7H INT25zX3mX30rX7H INT20zX4mX30rX7H
85 90 100
5) 5) 5)
65 70 80

HERTEWPSRIEERTTE—H




=
2
=
U
/p
0
@
:

TV";!;;"&‘; WPS40 WPS70 WPS90 WPS115 WPS142 WPS190

SizeR+ 1 =2 1 =2 1 =2 1 =2 1 =2 1 =2

D30 o M4 M6 M8 M8 M8 M10

H30 mm 225 35 45 57.5 71 95

L30 mm 36 52 60 78 108 132

L31 mm 25 36 35 515 40 63.5 56 90 79 120 80 128

L32 mm 4 6 8 8 10 10

L33 mm 6 10 15 16 16 20

Other size is as same as WPS series HERTH PSRIIIZEERFTEL—H

WPS-0P4 foot mounting size JKRMIIRZEIER T

|

I
|
|
|
\
|
|

or1

3]

=)
<
n 1
? [ ]
L41 L |L42
L46
Type stage
ISR BRI WPS40 WPS70 WPS90 WPS115 WPS142 WPS190 WPS240 WPS285 WPS330 WPS400
SizeR 1 =2 1 =2 1 =2 1 =2 1 =2 1 =2 1 =2 1 =2 1 =2 1 =2
D40 o} 4.5 6.6 9 9 9 11 13 13 18 18
D41 ® 7.5 11 15 15 15 18 20 20 26 26
H4 mm 285 47 60 72.5 86 113 150 170 200 240
L40 mm 58 84 110 135 165 216 265 310 360 430
L41 mm 22 41 465 70 49 775 575 915 82 123 975 145 130 180 150 200 180 230 200 260
L42 mm 6 8 10 10 10 12 30 35 40 40
L43 mm 3.5 6.8 10.5 10.5 10.5 11 13 13 17.5 17.5
L44 mm 6 12 15 15 15 18 30 275 35 40
L45 mm 75 100 130 155 185 240 300 350 420 480
L46 mm 32 47 625 86 69 975 775 1115 102 143 121.5 169 180 240 220 270 250 310 280 360

Other size is as same as WPS series ~HERTHEWPSRIIELRTREE—F
Note: If no, then according to customers  iE: EF#HHOEARERERE, ATEHRR, RO FREEMEEENREBARNRAERTER.

| ST 1






